Use words to describe the solution process.

Use appropriate math symbol editor like LateX.  Please no stuff like <=.

[image: image1.png]3. Wiite each of these ODEs in Sturm-Liouville form, and identify the weight function
that would be used in defining an appropriate inner product.
(a) 2y/(z) +(1-2)g/(z) + Au(2) =0 over0 <z <oo  (Laguerre’s equation)
(b) v~ 22y +dy=0  over —co<z<oc  (Hemmite's equation)

(¢) ¥'+a(@)y/ +[(x) + Ae(@)ly=0  overa<z<j  (Gen. 2nd-order ODE)
What conditions on a(z), b(x), and c(z) would be required for a regular Sturm-
Lionville eigenvalue problem?




